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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U. SHAH UNIVERSITY 
Summer Examination-2020 

 

Subject Name: Fluid Mechanics 
 

Subject Code: 2TE03FLM1    Branch: Diploma (Civil) 

    

Semester: 3       Date: 25/02/2020  Time: 02:30 To 05:30    Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14) 

 a Density of mercury is  

(a) 11.6            (b) 12.6            (c) 13.6                (d) 14.6 

(1) 

 b 1 stoke = 

(a) 10
2
m

2
/s       (b) 10

4
m

2
/s          (c) 10-

2
m

2
/s        (d) 10-

4
m

2
/s 

(1) 

 c Fluid is a substance which offer no resistance to change of  

(a) size        (b) shape        (c)  volume            (d) flow 

(1) 

 d Volume per unit mass is 

(a) mass density   (b) specific weight  (c) specific volume  (d) specific gravity  

(1) 

 e In bernoullis equation Z1 = Z2 if  

(a) pipe is inclined (b) pipe is vertical    (c) pipe is horizontal   (d) never 

(1) 

 f Fluid is said to be viscous if Reynald number is less than   

(a) 20                      (b)200                       (c)2000                 (d)20000 

(1) 

 g Metacentric height is (experimentally) 

(a) GM=Wtanθ/w1x(b) GM= w1x /Wtanθ (c) GM= Wx/ w1tanθ(d) none of these 

(1) 

 h When fluid is at rest shere stress if  (1) 
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(a) one                     (b) zero                      (c) less than zero            (d) more than one  

 i Pressure at any point in fluid is define as 

(a)area per unit force       (b) force per unit area        (c) both      (d) none of these 

(1) 

 j Capillary rise h= 

(a) 4gcosθ/ρσd        (b) 4σcosθ/ρgd       (c) 4gsineθ/ρσd       (d) 4σsineθ/ρgd 

(1) 

 k Which one is pressure measuring device 

(a) U tube manometer               (b) pezometer 

  (c) pressure gauge                   (d) all of the above  

(1) 

 l In C.G.S system the unit of viscosity is 

(a) poise            (b) joule                 (c) newton            (d) none of the above 

(1) 

 m Density of water is maximum at______ degree Celsius   

(a) 0                          (b) 4                       (c) 25                   (d) 100 

(1) 

 n A pitot tube is used to measure : 

(a) pressure                                (b) difference in pressure      

(c) velocity of flow                    (d) none of the above 

 

(1) 

  Attempt any four questions from Q-2 to Q-8  

Q-2  Attempt all questions (14) 

 a) State and explain continuity equation. 7 

 b) Explain different types of fluid with details. 7 

Q-3  Attempt all questions (14) 

 a) Differentiate between the eulerian and lagrangian method of describing fluid 

motion. 

7 

 b) State and explain various losses in flow through pipes. 7 

Q-4  Attempt all questions (14) 

 a) Explain PASCAL’s law with sketch. 7 

 b) Derivean equation for the force exerted by the jet on a stationary vertical 

plate. 

7 

Q-5  Attempt all questions (14) 

 a) The right limb of a simple u-tube manometer containing mercury is open to 

the atmosphere while the left limb is connected to a pipe in which a fluid of 

specific gravity 0.9 is flowing. The center of a pipe is 12 cm below the level 

of mercury in the right limb. Find the pressure of fluid in pipe if the difference 

7 
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of mercury level in two limbs is 20 cm. 

 b) A fluid having kinematic viscosity 21.4 stoke is flowing through a pipe of 

30cm diameter. If discharge through pipe is 15 lit/s, decide type of flow. 

 

7 

Q-6  Attempt all questions (14) 

 a) Derive formula for metacentric height with neat sketch. 7 

 b) Find the force exerted by a jet of water of diameter 75mm on a stationry flat 

plate, when the jet strikes the plate normally with velocity of 20 m/s. 

7 

Q-7  Attempt all questions (14) 

 a) Determine the dimensions of the quantities given below: 

(1) Angular velocity (2) Angular acceleration (3) Discharge (4) Kinematic 

viscosity (5) Force (6) Specific weight (7) Dynamic viscosity 

7 

 b) Two reservoirs are connected by a pipe 250 mm dia and 4000 mt long, the 

difference in surface level 15mt. calculate the discharge through pipe in lit/hr 

assume f = 0.008 

7 

Q-8  Attempt all questions (14) 

 a) Write a short note on fluid simulation software. 7 

 b) The velocity component in a two-dimensional flow of an incompressible fluid 

are u = 2x
2
y and v = -2y

2
x. state that it is a possible case of fluid flow. 

7 

                               

 

 

 

 

Q-1  Attempt the following questions: (14) 

 a ઩ાયાની ઘનતા છે. 

(એ) 11.6 (ફી) 12.6 (વી) 13.6 (ડી) 14.6 

(1) 

 b 1 સ્ટોક = 

(એ) 102m2/s (ફી) 104m2/s (વી) 10-2m2/s  (ડી) 10-4m2/s 

(1) 

 c પ્રલાશી એક ઩દાથથ છે જે ફદરાલલા ભાટે કોઈ પ્રતતકાય આ઩તો નથી. (1) 
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(એ) કદ (ફી) આકાય (વી) લોલ્યભુ (ડી) પ્રલાશ 

 d યતુનટ ભાવ દીઠ લોલ્યભુ છે. 

(એ) વામહૂશક ઘનતા (ફી) સ્઩ેતવહપક લજન (વી) સ્઩ેતવહપક લોલ્યભુ (ડી) સ્઩ેતવહપક ગરુુત્લાક઴થણ 

(1) 

 e ફનૌલરવ વભીકયણભાાં Z1 = Z2 જો 

(એ) ઩ાઇ઩ લરણ ધયાલે છે (ફી) ઩ાઇ઩ લહટિકર ઉબી શોમ છે (વી) ઩ાઇ઩ આડી શોમ છે (ડી) 

ક્યાયેમ નશીં 

(1) 

 f જો યેનાલ્ડ નાંફયની વાંખ્મા ઓછી શોમ તો પ્રલાશી ચીકણુાં કશલેામ છે. 

(એ) 20 (ફી) 200 (વી) 2000 (ડી) 20000 

(1) 

 g ભેટાવેન્ટ્રિક ઊંચાઈ (પ્રામોલગક રૂ઩)ે છે. 

(એ) GM = Wtanθ / w1x (ફી) GM = w1x / Wtanθ (વી) GM = Wx / w1tanθ (ડી) આભાાંથી કાંઈ 
નથી 

(1) 

 h જ્માયે પ્રલાશી ફાકીના વભમે તણાલભાાં શોમ તો. 

(એ) એક (ફી) શરૂમ (વી) શરૂમ કયતા ઓછાં (ડી) એક કયતા લધાયે 

(1) 

 i પ્રલાશી કોઈ઩ણ લફિંદુ ઩ય દફાણ તયીકે વ્માખ્માતમત થમેર છે. 

(એ) એકભ ફ઱ દીઠ ક્ષેત્ર (ફી) એકભ ક્ષેત્ર દીઠ ક્ષેત્ર (વી) ફાંને (ડી) આભાાંથી કાંઈ નશીં 

(1) 

 j કે઩ીરયી યાઈવ h = 

(એ) 4gcosθ / ρσd (ફી) 4σcosθ / ρgd (વી) 4gsineθ / ρσd (ડી) 4σsineθ / ρgd 

(1) 

 k જે એક દફાણ ભા઩લાનુાં ઉ઩કયણ છે. 

(એ) ય ુટયફુ ભેનોભીટય (ફી) ઩ેઝોભીટય   (વી) પે્રળય ગેજ (ડી) ઉ઩યનાાં ફધાાં 

(1) 

 l વી.જી.એવ તવસ્ટભભાાં સ્સ્નગ્ધતાનુાં એકભ છે. 

(એ) ઩ોઈઝ (ફી) જુર (વી) રયટૂન (ડી) ઉ઩યોક્ત કાંઈ નશીં 

(1) 

 m ઩ાણીની ઘનતા ભશત્તભ ________ હડગ્રી વેલ્લ્વમવ છે. (1) 
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(એ) 0 (ફી) 4 (વી) 25 (ડી) 100 

 n ત઩ટોટ ટયફુ ભા઩લા ભાટે લ઩યામ છે. 

(એ) દફાણ (ફી) દફાણભાાં તપાલત(વી) પ્રલાશનો લેગ (ડી) ઉ઩યોક્ત કાંઈ નશીં 
 

 

 

 

(1) 

  Attempt any four questions from Q-2 to Q-8  

Q-2  Attempt all questions (14) 

 a) કૉંટીનુાંઈટી વભીકયણ જણાલો અને વભજાલો. 7 

 b) તલગતો વાથે તલતલધ પ્રકાયના પ્રલાશીને વભજાલો. 7 

Q-3  Attempt all questions (14) 

 a) પ્રલાશી ગતતને લણથલલાની યરુેયીમન અને રેગે્રજજમન ઩દ્ધતત લચ્ચેનો તપાલત રખો. 7 

 b) ઩ાઈ઩ો દ્વાયા પ્રલાશભાાં થતા તલતલધ નકુવાનને જણાલો અને વભજાલો. 7 

Q-4  Attempt all questions (14) 

 a) સ્કેચ દ્વાયા PASCAL નો તનમભ વભજાલો. 7 

 b) સ્સ્થય લહટિકર ઉબી પ્રેટ ઩ય જેટ દ્વાયા ચરાલલાભાાં આલતા ફ઱ ભાટેના વભીકયણ જણાલો. 7 

Q-5  Attempt all questions (14) 

 a) ઩ાયો ધયાલતા વય઱ ય-ુટયફુ ભેનોભીટયનો જભણો અંગ લાતાલયણ ભાટે ખલુ્રો છે જ્માયે ડાફા 

અંગ ઩ાઇ઩ વાથે જોડામેર છે જેભાાં ચોક્કવ ગરુુત્લાક઴થણ 0.9 નુાં પ્રલાશી લશતે ુ ાં શોમ છે. ઩ાઇ઩નુાં 

કેરર જભણા અંગભાાં ઩ાયાના સ્તયથી નીચે 12 વે.ભી. ઩ાઇ઩ભાાં પ્રલાશીનુાં દફાણ ળોધો જો ફે 

અંગોભાાં ઩ાયાના સ્તયનો તપાલત 20 વે.ભી. 

7 

 b) 21.4 સ્ટોક ધયાલતુાં કાઇનેભેહટક સ્સ્નગ્ધતા ધયાલતુાં પ્રલાશી 30 વે.ભી. વ્માવની ઩ાઇ઩ભાાંથી લશી 

યહ્ુાં છે. જો ઩ાઇ઩ દ્વાયા સ્રાલ 15 લરટય / વે છે, તો પ્રલાશનો પ્રકાય નક્કી કયો. 

7 

Q-6  Attempt all questions (14) 

 a) સઘુડ સ્કેચ વાથે ભેટાવેન્ટ્રિક ઉચાઇ ભાટેનુાં સતૂ્ર વભજાલો. 7 

 b) સ્સ્થય વ઩ાટ પ્રેટ ઩ય 75 ભીભી વ્માવલા઱ા ઩ાણીના જેટ દ્વાયા કાબભૂાાં યાખેરા ફ઱ને ળોધો, 

જ્માયે જેટ પ્રેટને વાભારમ યીતે 20 m/s ની ગતતથી પ્રશાય કયે છે. 

7 

Q-7  Attempt all questions (14) 

 a) નીચે આ઩ેરા જથ્થાના ઩હયભાણો નક્કી કયો:(1) કોણીમ લેગ (2) કોણીમ પ્રલેગ (3) સ્રાલ (4) 

કાઇનેહટક સ્સ્નગ્ધતા (5) ફ઱ (6) સ્઩ેતવહપક લજન (7) ગતતળીર સ્સ્નગ્ધતા 

7 
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 b) ફે જ઱ાળમો ઩ાઇ઩ દ્વાયા જોડામેરા છે 250 ભીભી વ્માવ અને 4000 ભીટ રાાંફી, વ઩ાટીના 

સ્તયભાાં તપાલત 15 ભીટ. ઩ાઇ઩ દ્વાયા સ્રાલની ગણતયી lit / hr. 

f = 0.008  

7 

Q-8  Attempt all questions (14) 

 a) પ્રલાશી તવમ્યરુેળન વોફ્ટલેય ઩ય ટૂાંક નોંધ રખો. 7 

 b) ઇનકમ્પે્રતવફર પ્રલાશીના ફે-઩હયભાણીમ પ્રલાશભાાં લેગ ઘટક  U = 2x
2
y અને  V = -2y

2
x છે. 

જણાલો કે તે પ્રલાશી પ્રલાશનો વાંબતલત કેવ છે. 

7 

 


